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Puzzle 1 (Medium, difficulty rating 0.49)

| 2

] |
o o M
8 : 4

[To] S Kep] [oN] [(e] Kap) (e o) il B uud bl Dl Rl K321 B 2] k€@ [aN] (e o] K@)} bl A £2ed Ke2] (822 KSV] Hd (K@) [(0] R ¢ m8519234_{6
3 3 g

[l (e @] Kap] [o) KaN] kot [(o) Kep] RS o WS46198572- WG14988725 W429567881
£ £ 3
£ £ ©

| N O | O || O =] [o2] Kol KaN] [l RS [T0] Raud [4p] (o) =] (SN iTel[ee] [(o] |l B aud [@2] ANy Kep] V.y886214—{59
e S P
5] 5} 2

MO N|O|O|<F|—[O| M~ /M\23961_{854 /M\892754186 /_.m-94863n/_517
N ™ <

(M| O|M || N|WO|<F|© o T |O|—O|o||M || OO | O | Mot |O| | %) Aand Ll K32] (0] ASdl 119 (o] [@2] KaN| |
N N N




